B AYKEIOY AATEBPA

20.1 1)
6x° —19x* +20x-10 |342 5y 46
—(6x3—10x2+12x) 2% —3
—9x* +8x-10

—(9x* +15x -18)
Apa (6x°—19x”+20x ~10) = (3x* ~5x +6)(2x —3) — 7x +8
Emodifevon : (3x° —5x +6)(2x—3)—7x+8=6x’ —9x* —10x* +15X +12x 18— 7x +8 =
=6x° —19x° +20x 10

201 2

3x° —x2 +4x —IX +X+2
—3x*-3x2-6x | X—4

—4x? -2x -3
4X* +4X+8

2X+5

Emopévag 3x3—x2+4x—3:(x2+x+2)(3x—4)+2x+5
EnaAn0svon (X2 +X+ 2)(3X —4)+2x+5=

=33 —4x® +3x® —4X+6X -8+ 2X+5=3x*—x*+4x—3

20.1 3)
(6x3 —13x* +7x +5) : (2x2 —3x +4)
6X° —13X* +7X+5  |py2 3y 44
—(6x® - 9x” +12x) 3x—2
—4x* -5x+5
~(-4x*+6x-8)
-11x+13

Apa (2x* —3x+4)(3x—2)-11x +13=6x" ~13x* +7X +5
Enadifevon : (2x* —3x +4)(3x —2)~11x +13=6x° ~ 9x” +12x —4x” + 6X +12x -8 ~11x +13=
=6x° —13x* +7X+5

20.1 4)
(x3 —x? —9x—10) ((x—4)



x}—x*-9x—-10 |x 4
—(x®—4x?) X2 43X+ 3
3x? -9x-10
—(3x* —12x)
3x-10
-(3x-12)
2

Apa (x3 —X? —9x—10):(x—4)(x2 +3x+3)+2

Emodifevon : (X —4)(x® +3x+3)+2=x>+3x" +3x —4x* —12x ~12+2 =
=x°—x*-9x-10

20.1 5)
(6x° —x* —14x+3):(2x—3)

6x° —x*—14Xx+3 [2x_3
—(6x° - 9x?) 3x? +4x -1
8x* —14x +3
—(8x2 —12x)
C—2x+3
—(-2x+3)
0
Apa 6x°—x*—14x+3= (2x—3)(3x2 +4x —1)

Emodifevon : (2x—3)(3x* +4x—1) = 6x> —8x” —2x —9x* ~12x + 3=

=6Xx°—x?—14x+3

20.1 6)
(3% +2x* +1):(x* +x-2)
3 +2x° +1 X2 4 X —2
—(3x3 +3x° —6x) 3x—1
—x*+6x+1
—(x2 —x+2)
7x-1

Apa 3x°+2x° +1=(x*+x-2)(3x 1)+ 7x -1

Emodifevon : (X* +X—2)(3x—1)+ 7x=1=3x" —x* +3x* —X—6X + 2+ 7x —1
=3x*+2x° +1

201 7)

(x4+x3+7x2—6x+8):(x2—x+l)



4 3 2
X"+ X" +7X°—6X+8 X2 _x4+1

—(x4—x3+x2) X% +2X +8
2x® +6x* —6x+8
—(2x3 —2x? +2x)

8x?-8x +8
~(8x* —8x+8)
0

Apa (x“+x3—7x2 —6x+8):(x2 —x+l)(x2 +2x+8)

Emain0gvon: (x2 —x+1)(x2 +2x+8) =X*+2X° +8x* — x> —2x* —8X + X* +2x +8 =
=x*+x*—7x* —6x+8

20.1 8)
(2x4 —6x° +3x% —3x +1) : (x2 ~3x +1)

2x" —6x° +3x* =3x+1 |2 _3y 41
—(2x* —6x° +2x%) %2 +1
x?—3x+1
—(x2 -3x +1)
—

Apa (2x4 —6x>+3x% - 3x +1) = (x2 -3x +1)(2x2 +1)

Emodnifevon: (X —3x +1)(2x* +1) = 2x" —6x° +2x* +x* —3x +1=
=2x* —6x° +3x* —3x+1

201 9
(x“ +x°—7%2 +3x—6):(x—2)

x*+x®-7x*+3x-6 X —2
—(x* -2x°) X3 +3x2 —x+1
3x*-7x*+3x -6
~(3x*-6x%)

—Xx*+3x-6
-(—x*+2x)

Apa X*+x>-7x? +3x—6:(x—2)(x3+3x2 —x+1)—4

Emodifevon: (X —2)(X° +3x* —x+1)—4=x"+3x> = x* + X - 2x° —6X" +2x—2 -4 =
=Xx"+x*-7x* +3x—6

201  10)



(2x4 —3x® +5x° —3) :(2x-1)

2x* —3x3+5x% -3 I%x —1

—(2x4—x3) X2 =x?+2x +1
—2x*+5x*-3
—(—2x3+x2)

4x* -3
—(4x* —2x)
2X -3
—(2x-1)
-2

Apa 2x* =3x®+5x* =3=(2x —1)(x* - x* + 2x +1) -2

Emali0svon: (2x—l)(x3 — X% +2X +1)—2 =2X" = 2x3 442+ 2x X3+ XP —2x—-1-2 =
= 2x* —3x%+5x° -3

20.1 11)
(x4 —x? +1) ; (x2 +x+1)

4 2
X' =x"+1 x>+ x+1
—(x4+x3+x2) NG|
—x*=2x"+1
—(—x*=x*=x)
2
-X"+x+1
—(—xz—x—l)

2X+2

Apa (x“—x2 +1):(x2 +x+l)(x2 —x—l)+2x+2

Emodifevon: (X7 +X+1)(x* =x=1)+2x+2=x" =x° =X +x* = x* =X+ X* =X =1+ 2X + 2 =
=x"—x*+1

201 12)

X°—6X3+3x°+7x—4

X2+ x%—2x+1
—5x° —x* +2x3 = x?

x?—x-3

X" —4x}+2x* +Tx -4

X+ x3-2x% +x

—3x*+8x—4

33 +3x*—6x+3

3x2+2x -1

Emopévog  X°—6x°+3x* + 7x—4=(x*+x* = 2x +1)(x* —x—3)+3x* +2x -1
Enalfcvon (x3 +X?—2X +1)(x2 —X —3)+3x2 +2x 1=

= X5 KT =3 X —x® 3K — 22X 42X 46X+ X2 —X—323%% +2x ~1=



=x>—6x3+3x*+7x—4
20.1 13)
(x3+1):(x+l)

x*+1 x+1
—(x3+x2) x?—x+1
x*+1
—(—x*-x)
X+1
—(x+1)
0

Apa X +1=(x+1)(x* —x+1)

Emoinfevon @ (X +1)(x2 —x+1) =x® X+ x+x*=x+1=x*+1

201 14)

x5:(x—1)2 gtvon (x—1)2:x2—2x+1

5

X X2 —2x+1
—(X5—2X4+X3) X +2x% +3x+4
2x* —x3

—(2x4 —4x3 + 2x2)

3x® —2x2

—(f:’»x3 —6x? +3x)

4x* —3x
—(4x* -8x+4)
" bx—-4

Apa X° :(x2 —2x+1)(x3+2x2 +3x+4)+5x—4

Emodnifevon : (X7 —2x+1)(x° +2x° +3x +4)+5x —4 =

=X+ 2X* + 3 +4x% —2X* —Ax® —BX% —AX+ X3 +2X% +3X +4+5Xx -4 =X°



